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Preface 

 

            Each pupil is unique with respect to learning ability, academic standards, class 

room learning and academic performance and each has his/her own pace of learning. 

The question pool is intended to provide learning support to pupils who lag far 

behind their counterparts in academic performance. This material strengthens their 

confidence, enhances the ability to face questions and answer them effectively to 

attain high scores.  It also familiarizes them with indirect questions and equips them 

to answer with confidence. 

              This question bank is based on the NCERT text book of biology class XI and 

class XII and it contains model questions that appear in public/board examination. 

The ultimate aim of this teaching material is to help pupils who have fallen behind to 

learn to the best of their ability and to bring them back into the mainstream classes as 

far as possible. 
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HUMAN REPRODUCTION 

One word answer questions. Each question carries 1 score 

Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 

 

1. Ovulation is induced by a hormone called----------------------- 
-AWvtUmÂkÀÖ\¯n\v t{]c-I-amb tlmÀtam-WmWv ...................... 

a. FSH b. LH c. Estrogen d. Progesterone 

 

1 

2. Which layer of uterine wall help in implantation? 
KÀ`m-i-b¯nsâ GXv `n¯n-bmWv Cw¹mtâj\v klm-bn-¡p-¶Xv? 

a. Sarcoma  b. Perimetrium  c. Myometrium    d. Endometrium 

 

1 

3. The process of childbirth is called ................................... 
Ipªp-§-Ä P\n-¡p¶ {]{In-bsb ............................. F¶v hnfn-¡p¶p 

a. Foetal ejection reflex  b. Implantation  c. Parturition   d. Menopause 

 

1 

4. Note the relationship between the first two words and fill in the blanks  
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  \memas¯ 
hm¡v Fgp-XpI 

First menstruation : menarche;  stoppage of menstruation : ……………… 

 

1 

5. In which part of the human reproductive system does fertilization occur ? 
_oPkwtbmKw a\p-jy-i-co-c-¯nsâ {]XypÂ]m-Z\ hyh-Ø-bnÂ Fhn-sS-bmWv 
\S-¡p-¶Xv ? 

 

1 

Answer the following questions. Each question carries 2 scores 

Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 

 

6. Observe the figure and answer the following questions 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Identify the figure and label A, B, C & D. 

     Nn{Xw Xncn-̈ -dnªv A, B, C,D `mK§fpsS t]sc-gp-XpI  

b. What is the function of ‘C’? 

     ‘C’ bpsS [À½w F´v? 

2 
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7. Match the columns A and B  
tNcpw]Sn tNÀ¡pI 

A B 

Interstitial cells 

Ovary 

Blastocyst 

Inner cell mass 

Embryo 

Implantation 

Androgens 

Relaxin 
 

2 

8. Stages in embryogeny are given. Arrange in the correct order 
{`qWhnImk¯nsâ hnhn[ L«-§Ä X¶n-cn-¡p¶p. icn-bmb coXn-bnÂ {Iao-I-cn-
¡pI 

Cleavage, Zygote, implantation,  blastocyst, morula 

2 

9. a. Write down the functions of placenta in foetal development 
    {`qW-hfÀ -̈bnÂ ¹mksâbpsS [À½w F´v ? 

b. Name any two hormones produced by placenta 
    ¹mksâ DÂ]m-Zn-̧ n-¡p¶ c−v tlmÀtamWpIfpsS t]scgp-XpI 
 

2 

10. Prepare a flow chart showing the pathway of sperm transport from seminiferous 

tubule to the exterior.  
skan\ns^dkv \fn-I-bnÂ \n¶pw ]pd-t¯bv¡v kvt]w hln-̈ p-sIm−v t]mIp-¶ 
]mXbpsS tcJm Nn{Xw X¿m-dm-¡pI.  

 

2 

11. Observe the given figure and answer the questions that follow 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Label A & B  

    A, B `mK§fpsS t]sc-gp-XpI 

b. What is the significance of ‘B’,  if the egg is  fertilized? 

    _oPkwtbmKw \S-¶mÂ ‘B’ bpsS {][m\yw F´v? 

2 
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12. a. Observe the flow chart and identify the process and the organ in which it takes  

    place 
    ^vtfm NmÀ«v \nco-£n¨v {]{Inb Xncn- -̈dnbpI Cu {]{Inb \S-¡p¶ Ah-bhw 
GXv ? 

b. Fill in the blanks labelled as A, B and C 

    A, B, and C  F¶v AS-bm-f-s¸-Sp-¯nb `mK§Ä ]qcn-̧ n-¡pI 

 

2 

13. Breast feeding is important for the health of a new born baby. Do you agree ? 

“Hcp \h-Pm-X-in-iphnsâ Btcm-Ky-̄ nÂ ape-bq-«en\v {]m[m\yw D−v”. \n§Ä 
tbmPn-¡p¶pt−m ? 

a. Name the milk produced by the mother during the initial days of lactation 
      ape-bq-«ensâ BZy Zn\-§-fnÂ DÂ]m-Zn-̧ n-¡p¶ ]mensâ t]sc´v ? 

b. Why is breast feeding recommended during the initial period of infant growth  
    Ipªp-§-fpsS hfÀ -̈bpsS BZy-Im-e-L-«-§-fnÂ ape-bq-«Â ip]mÀi- 

   sN¿p¶Xv F´psIm−v ? 
 

2 

14. The hormone level involved in menstrual cycle is given in the figure. Answer the 

following  
BÀ¯h N{I-̄ nÂ DÄs¸-Sp¶ tlmÀtamWpI-fpsS Afhv Nn{X¯nÂ X¶n-cn-
¡p¶p. tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Identify the hormone labelled A,B,C and D 

     A,B,C  D tlmÀtamWpIÄ Xncn- -̈dnbpI 

b. Write down the functions of these hormones 
     Cu tlmÀtamWpIfpsS [À½w F´v ? 

2 
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15. a. Diagram of a mammalian sperm is given. Label the parts A, B & C 

    Hcp at½en-b³ kvt]ansâ Nn{Xw X¶n-cn-¡p¶p. A, B, C `mK§fpsS t]sc-gp-XpI.  

b. Write down the function of acrosome  
     At{Im-tkmansâ [À½w F´v? 

 

2 

Answer the following questions. Each question carries 3 scores 

Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 3 kvtImÀ hoXw 
 

16. Observe the figure and answer the following questions 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Identify the process in  A and B 

    A bpw B bpw {]{Inb Xncn- -̈dnbpI 

b. Write the differences between A & B 

    A bpw B bpw X½nepÅ hyXymk§Ä Fgp-XpI 

 

3 

17. Answer the questions based on the diagram given below 
Nn{Xw \nco-£n¨v tNmZy-§Ä¡v D¯cw Fgp-XpI 

a. Identify the figure  
    Nn{Xw Xncn- -̈dn-bpI 

b. Label the part A and B.  Give its function during  

     embryogeny 

     A bpw B bpw Xncn-̈ -dnªv, {`qtWmÂ]m-Z-\-¯nÂ  
   Ch-bpsS [À½w F´v F¶v Fgp-XpI. 

c. Define implantation. 
    Cw¹m-³tä-j³ \nÀh-Nn-¡pI. 

3 
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REPRODUCTIVE HEALTH 

One word answer questions. Each question carries one score 

Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 
 

1. Note the relationship between the first two words and fill in the blanks  
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  \memas¯ 
hm¡v Fgp-XpI 

Male : Tubectomy;  Female : ……………… 

 

1 

2. MTPs are considered relatively safe during …………….. period of gestation. 
KÀ`mhØ-bpsS ................ Ime-L-«-¯nÂ KÀ -̀On{Zw \S-̄ p-¶-XmWv kpc-£nXw. 
 

1 

3. Name the once in a week contraceptive pill developed by CDRI 

CDRI DÂ]m-Zn-̧ n¨ BgvN-bnÂ Hcn-¡Â D]-tbm-Kn-¡m-hp¶ KÀ`\ntcm-[\ KpfnI 
GXv ? 

a. LNG-20   b. Progestasert   c. Saheli   d. Multiload 375  

 

1 

4. Expand STD 

STD bpsS ]qÀ®cq]w Fgp-XpI 

 

1 

5. Write the common term used for the ART in which In Vitro Fertilization  is 

followed by Embryo Transfer 

C³ hnt{Sm _oP-kwtbmK tijw {`qW-amäw \S-̄ p¶ ART coXnsb hnfn-¡p¶ 
t]sc´v ? 
 

1 

Answer the following questions. Each question carries 2 scores 

Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 
 

6. Natural contraceptive methods work on the principle of avoiding chances of 

ovum and sperms meeting. Suggest any two such methods and how it avoids 

chances of pregnancy. 
{]IyXnZ¯ KÀ`-\n-tcm-[\amÀ¤§Ä _oP§fpsS kwtbm-Ks¯ XS-bp-¶p. 
A -̄c-¯nepÅ GsX-¦nepw c−v amÀ¤§Ä \nÀtZ-in¨v F§s\ Ch KÀ -̀
[mcWw XS-bp-¶p F¶v Fgp-XpI ? 
 

2 

7. Expand the following.  
X¶n-cn-¡p-¶hbpsS ]qÀ®cq]w Ggp-XpI 

a. RCH   b. ZIFT   c. GIFT   d. ICSI  

 

2 

8. In barrier methods, ovum and sperms are prevented from physical meeting. 

Name any four barriers used for contraception. 
XS-Ê amÀK§-fnÂ AWvUhpw ]pw_o-Phpw kwtbm-Pn-¡p-¶Xv XSbp¶p. GsX-
¦nepw \mev XS-Ê KÀ`-\n-tcm-[\amÀ¤-§Ä Fgp-XpI 

2 
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9. A test in which a sample of amniotic fluid is taken from the womb of a pregnant 

woman at early stages of foetal development 
-KÀ`m-h-Ø-bpsS BZy-Im-e-L-«-§-fnÂ KÀ`mib-¯nÂ \n¶pw Aav\n-tbm-«nIv {Zh 
]cn-tim-[\ \S-̄ p¶p 

a. Name the diagnostic test   
    ]cn-tim-[\bpsS t]sc´v ?     

b. Why is this test legally banned? 

    F´p-sIm−v Cu ]cn-tim-[\ \nbaw aqew hne-¡n-bn-cn-¡p¶p? 

 

2 

10. Match the following   tNcpw]Sn tNÀ¡pI 

A B 

Pill Prevents sperm reaching cervix 

Condom Prevents implantation 

Vasectomy Prevents ovulation 

Copper T Semen contains no sperm 
 

2 

 

 

 

 

 

 

   

11. Find the odd one out and give reason  
Hä-bms\ Is−-¯pI. ImcWw Fgp-XpI 

a. Diaphragms  b. Cervical caps c. Vaults  d. Tubectomy 

 

2 

12. Observe the figure and answer the following questions 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Identify the figure 
     Nn{Xw Xncn-̈ -dn-bpI 

b. Label the part A 

     A F¶v AS-bm-fs¸Sp¯nb `mKw Xncn- -̈dn-bpI  

c. Name the surgical method of sterility in female 
    kv{XoI-fnse hÔo--I-cW ikv{X-{Inbm amÀ¤w GXv? 

d. Why are surgical methods of sterility are called permanent methods? 

     ikv{X-{Inb-bn-eq-sSbpÅ hÔyw-I-cWw Ømbn-bmWv. F´psIm−v? 

2 
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13. Nowadays the sexually transmitted diseases are commonly seen in the youths of 

our country 
ssewKnI ]IÀ -̈hym-[n-IÄ Cu Ime-L-«-¯nÂ bphm-¡-fnÂ IqSp-X-emWv. 

a. Name any two sexually transmitted diseases  
    c−v ssewKnI ]IÀ¨hym-[n-IÄ Gh ? 

b. Mention any two methods to prevent STDs 
    ssewKnI ]IÀ -̈hym-[n-IÄ XS-bp-¶-Xn-\pÅ c−v amÀ¤-§Ä GsXÃmw ? 
 

2 

14. Name the following techniques. 
Xmsg X¶n-cn-¡p¶ kmt¦-XnI hnZy-bpsS t]sc-gp-XpI. 

a. Zygote/early embryo is transferred before it reaches the 8 cell stage. 
    8 tImi-§Ä hsc-bpÅ {`qW-JWvUm-h-Ø-bnÂ {`qW-amäw \S-¯p¶p 

b. Embryo is transferred after 32 celled stage. 
   32 tImi-§Ä hsc-bpÅ {`qW-JWvUm-h-Ø-bnÂ {`qW-amäw \S-¯p¶p 
 

2 

15. In an infertility clinic, doctor suggested that the couples could be assisted to 

have children through certain special techniques. Name the ART suggested for 

the following cases. 
hÔyXm \nÀ½mÀP\ NnInÕm-e-b-̄ nse tUmIvSÀ Xmsg ]d-bp¶ Z¼-Xn-IÄ¡v 
GXv {]Xypev]m-Z\ klmb kmt¦-XnI hnZy-bmWv \nÀt±in-¡p-¶Xv. 

a. Female partner who cannot produce ovum 
    AWvUw DÂ]m-Zn-̧ n-¡m³ Ign-bm¯ kv{Xo ]¦mfn 

b. Inability of the male partner to inseminate 
     ipIvfw \nt£-]n-¡m³ Ign-bm¯ ]pcpj ]¦mfn 

2 

16. Govt. of India legalized MTP in 1971 with some strict conditions to avoid its 

misuse. 
1971 Â C´ym Kh¬s-aâv KÀ`On{ZZpcp-]-tbmKw XS-bp-¶-Xn\v IÀi\ D]m-[n-I-
fpÅ \nbaw sIm−p-h¶p. 

a. Why is MTP legalized in India?  

    KÀ`On{ZZpcp-]-tbmKw XS-bp-¶-Xn\v \nbaw sIm−p-h¶Xv F´n\v? 

b. What are the conditions which necessitate MTP? 

     sshZy-imkv{Xw Ah-ew-_n-̈ pÅ KÀ`On{Zw \S-t¯− Bh-iy-I-X-IÄ Gh? 

2 

Answer the following questions. Each question carries 3 scores 

Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 3 kvtImÀ hoXw 
 

17. An effective and popular method of contraception is the use of IUDs. 

^e-{]-Zhpw {]Nm-c-ta-dn-b-Xp-amb KÀ`-\n-tcm-[\amÀ¤-amWv IUDs. 

a. Expand IUDs 

     IUD bpsS ]qÀ®cq]w Fgp-XpI 

b. Write down three types of IUDs with example 

     aq¶p-Xcw IUDs DZm-l-c-W-k-lnXw Fgp-XpI 

c. Why are IUDs used as effective contraceptive device? 

   IUDs ^e-{]-Zamb KÀ`-\n-tcm-[\amÀ¤-ambn D]-tbm-Kn-¡p-¶p. F´psIm−v ? 

3 
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PRINCIPLES OF INHERITANCE AND VARIATION 

One word answer questions. Each question carries one score 
Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 
 

1. The type of sex determination in man is --------------- 
a\p-jy-cnse enwK-\nÀ®b coXn-bmWv ........................ 

a. XX - XO   b. ZW - ZZ   c. XX –XY   d. XX-XX 

 

1 

2. The phenotypic ratio obtained in a cross is 1:2:1. Name the type of cross 

Hcp t{Imknsâ {]I-S-cq-]-§-fpsS A\p-]mXw 1:2:1 BWv. t{Imknsâ t]sc-gp-XpI 
 

1 

3. A person excretes phenylpyruvic acid through urine. Name the disease 
Hcp hyànbpsS aq{X-¯n-eqsS ^n\-bnÂ ss]dq-hn¡v BknUv hnkÀÖn-¡s¸Sp-
¶p. tcmK¯nsâ t]sc-gp-XpI 
 

1 

4. ABO blood group in human beings is an example for 

a\p-jy-cnse ABO cà-{Kq¸v GXn\v DZm-l-c-W-amWv ? 

a. Linkage     b. Dominance    c. Co-dominance   d. Incomplete dominance 

 

1 

5. Name the amino acid in the 6
th

 position in HbA polypeptide 

HbA t]mfn-s]-]vssäUnsâ 6-þmw Øm\s¯ Aant\m BknUv FXv ? 

 

1 

6. Characters are controlled by the discrete unit  called ……………………. 
kz`m-h-§sf \nb-{´n-¡p¶ ASn-Øm\ LSI§fmWv ......................... 

a. Allele   b. Factors   c. Traits   d. Chromosomes 

 

1 

7. Crossing of F1  hybrid to its recessive parent is called .............................. 

F1 k¦-c-¯ns\ Kp]vX- kz`m-hapÅ ]mcâpambpÅ t{Imkns\ ............ F¶v   
hnfn-¡p¶p. 

a. Back cross    b. Co-dominance   c. Test cross    d. Incomplete dominance 

 

1 

8. The mutation due to insertion or deletion of a single base pair in DNA is called 

DÂ]-cn-hÀ¯\w aqew DNA bnÂ Hcp tPmUn s_bvkpIÄ DÄs¸-Sp-Itbm 
\jvSs¸-Sp-Itbm sN¿p-¶-Xns\ hnfn-¡p¶ t]cv F´v ? 

a. Silent mutation  b. Frame shift mutation  c. Point mutation   d. Chromosomal aberration 

 

1 

Answer the following questions. Each question carries 2 scores 
Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 
 

9. Name any two chromosomal disorders, their causes and symptoms 
GsX-¦nepw c−v t{ImatkmaÂ sshI-ey-§Ä FgpXn Ah-bpsS Imc-W-§fpw  
e£W-§fpw Fgp-XpI 

2 
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10. A Haemophilic man marries a normal homozygous woman. 
lotam^oenb DÅ ]pcp-j³ tcmK-an-Ãm¯ ka-tPm-Un-I-fpÅ kv{Xosb hnhmlw 
Ign¨p  

a. Represent the cross.   
    t{Imkv Fgp-XpI 

b. What is the possibility of their daughter becoming haemophilic? 
    Cu Z¼-Xn-IÄ¡v P\n-¡p¶ aIÄ¡v lotam^oenb D−m-Im-\pÅ km[yX  
  F´v ? 
 

2 

11. A man with blood group ‘A’ and a woman with blood group ‘B’ have a child with 

blood group ‘O’. Represent the cross and predict  the genotype of the parents. 

‘A’ cà-{Kq¸pÅ ]nXm-hn\pw ‘B’ cà-{Kq¸pÅ amXm-hn\pw  P\n-̈  Ip«n-bpsS cà-

{Kq¸v ‘O’ BWv. t{Imkv Fgp-Xn amXm-]n-Xm-¡-fpsS P\n-X-I-cq]w Fgp-XpI. 
 

2 

12. A red flowered 4’O clock plant is self-pollinated.  
Nph¶ ]q¡-fpÅ \mep aWn sNSn-IfnÂ kz]-cm-KWw \S-¯p¶p. 

a. Write down the cross and represent the phenotypic ratio. 
   t{Imkv Fgp-Xn {]IS-cq]¯nsâ A\p-]mXw Fgp-XpI. 

b. Name the pattern of inheritance. 
    P\n-XI hym]-\¯nsâ t]sc-gp-XpI. 
 

2 

13. a. Identify the cross given.                      

a. X¶n-cn-¡p¶ t{Imkv Xncn- -̈dn-bpI 

 
   

b. Write its significance  

b. t{Imknsâ {]m[m\yw Fgp-XpI 

 

2 

14. In our society, the women are often blamed for giving birth to daughters. Do you   

agree ?  Justify your answer with the help of a schematic representation  
\½psS kaq-l-¯nÂ s]¬Ip-«n-IÄ P\n-¡p-¶-Xn\v kv{XoI-sf-bmWv Ipä-s¸-Sp-
¯p-¶-Xv. Cu {]kvXm-h-\-tbmSv \n§Ä tbmPn¡p¶pt−m? kvIoam-änIv coXn-bnÂ 
{]Xn-\n-[o-I-cn¨v D¯cw km[q-I-cn-¡pI. 

2 
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15. The phenotypic ratio in Mendelian monohybrid crosses is usually 3:1. But 1:2:1 is 

a variation from this 
sa³Uensâ GI-k-¦c hÀ¤-k¦-c-W¯nsâ {]IS-cq]¯nsâ A\p-]mXamWv 

3:1.  CXnsâ hyXn-b-m\-amWv 1:2:1 

a. Mention the phenomenon which shows phenotypic ratio 1:2:1  

    GXv {]IS-cq]¯nsâ A\p-]mXþhyXn-b-m\-amWv 1:2:1 ? 

b. Using an example write the cross to show this phenomenon 
    Cu {]Xn-̀ mk¯n\v DZm-l-cWklnXw t{Imkv FgpXpI. 
 

2 

16. Child with blood group ‘AB’ is born to a father with blood group ‘A’ and mother 

with blood group ‘B’. The father is suspecting the mother’s chastity. As a student 

of genetics, how will you advise the parent?  

‘A’ cà-{Kq¸pÅ AÑ\pw ‘B’ cà-{Kq¸pÅ A½bv¡pw ‘AB’ cà-{Kq¸pÅ Ip«n- 
P\n¨p. AÑ³  A½bpsS ]cnip²nbnÂ kwibw tcJ-s¸Sp¯p¶p. P\n-X-
Iimkv{X hnZymÀ°n F¶ \ne-bnÂ \n§-fpsS D]-tZiw Fgp-XpI 
 

2 

17. Mendelian disorders are mainly determined by the alteration or mutation in the 

single gene. 
sa³tUenb³ sshI-ey-§Ä D−m-Ip-¶Xv Hcp Po\n-ep-−m-Ip¶ hyXn-bm\w 
AYhm DÂ]-cn-hÀ¯\w aqeamWv 

a. Identify the sex linked recessive disease and write a short note on it. 
  enwK t{Ima-tkm-ap-I-fp-ambn _Ô-s¸« Kp]vX-kz`mh P\n-XItcmKw GXv? Cu  
  P\n-XI tcmKs¯ Ipdn¨v Fgp-XpI.  

b. The possibility of this disorder is extremely rare in females. Give reasons  
   Cu sshIeyw kv{XoI-fnÂ D−m-I-m\p-ff km[yX hfsc hnc-f-am-Wv. ImcWw       
   Fgp-XpI. 
 

2 

18. A person is the victim of a genetic disorder and his karyotype is found to be 47 

with XXY. 
P\nXI sshI-eyw DÅ hyàn-bnÂ t{Imatkm-apI-fpsS F®w 47 BWv. enwK 

t{Ima-tkm-ap-IÄ XXY bpw BIp-¶p. 

a. Identify the disorder b. Give two symptoms 

a. sshIeyw Xncn- -̈dn-bpI     b. c−v e£W§Ä Fgp-XpI  
 

2 

19. Match the following   tNcpw]Sn tNÀ¡pI 

 

 
A B 

Phenyl ketonuria 

Down’s syndrome 

Turner’s syndrome 

Haemophilia 

Sex linked recessive trait 

Absence of one X chromosome 

Autosomal recessive trait 

Trisomy of 21st chromosome 

Autosomal dominant trait 

2 

  



67 

 

 

20. A cross is made between a round seed shaped pea plant with yellow seed colur 

(RrYy) and a wrinkled seed shaped pea plant with yellow seed colur (rrYy). 

Dcp-−Xpw aª \nd-apÅ (RrYy) hn¯pÅ ]bÀ sNSnsb Npcp-§n-bXpw aª 

(rrYy) hn¯pÅ ]bÀ sNSnbpambn k¦-cWw sNbvXp. 

a. Represent the cross using a Punnet square 
   ]p¶äv NXpcw D]-tbm-Kn¨v t{Imkv FgpXpI. 

b. Write down the number of progeny with the following phenotype 
   Xmsg ]d-bp¶ {]IS-cq]apÅ k´m-\-§-fpsS F®w FgpXpI. 

1. Round and yellow                   2. Wrinkled and green 
Dcp-−Xpw aª \nd-apÅXpw     Npcp-§n-bXpw ]¨  \nd-apÅXpw  

    

2 

21. Observe the symbols given below  
Xmsg X¶n-cn-¡p¶ Nnl-v\-§Ä \nco-£n-¡pI       

 
a. Identify A and B 

    A bpw B bpw Xncn¨-dn-bpI 

b. What is the use of symbols in genetic study? 

   P\n-XI ]T-\-̄ nÂ Cu Nnlv\-§fpsS D]-tbmKw F´v? 
 

2 

Answer the following questions. Each question carries 3 scores 

Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 3 kvtImÀ hoXw 
 

22. It is an inborn error in metabolism. The affected person is mentally retarded. 
D]m-]-Nb {]hÀ¯\¯nse P·-\m-bpÅ sshIeyamWv CXv. C¯cw hyàn-
IÄ¡v _p²n-amµyw ImWp-¶p. 

a. Name the disorder    b. Enumerate its cause  

a.  sshIeyw FgpXpI.                     b. ImcWw FgpXpI. 

c. Name the enzyme that is deficient in the individual 

c. C¯cw hyàn-IfnÂ GXv F³sskansâ A`m-h-amWv ImWp-¶Xv ? 
 

3 

23. Male heterogamety is seen in human and Drosophila 
]pcpj slä-tdm-Km-aän a\p-jy-cnepw ]g-bo¨bnepw ImWp-¶p. 

a. What is male heterogamety ? 

       F´mWv ]pcpj slä-tdm-Km-aän? 

b. Name the difference in sex determination in humans and grasshopper. 
       a\p-jy-cnepw ]pÂ¨mSnbnepw ImWp-¶ enwK \nÀ®b coXn-bpsS hyXymkw  
       F´v ? 

c. How is sex determination mechanism different in birds?  
       ]£n-I-fnse enwK \nÀ®b coXn- F§s\ hyXymks¸«n-cn-¡p-¶p ? 

3 
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24. 

 

 

a. Which peptide chain is not normal? 

   X¶n-cn-¡p¶XnÂ GXv s]]vssäUv t{iWn-bmWv A]m-IX ImWn-¡p-¶Xv? 

b. Name the disease caused by the abnormal condition of this chain  
   A]m-IX ImWn-¡p-¶ s]]vssäUv t{iWn aqe-ap-−m-Ip¶ tcmKw GXv ? 

c. Mention the cause and effect of the change in aminoacid sequence leading to   

    the disease 
   Cu  tcmKw D−m-Im-\pÅ Imc-Whpw AXnsâ {]`mhhpw FgpXpI. 

 

3 

25. Chromosomal Theory of Inheritance combines the concept of Mendelian principles 

with chromosomal seggregation 
t{Imatkm-w kn²m-́ -§Ä sa³Uensâ XXz§sfbpw t{Imatkm-w thÀ]n-cn-b-en-
t\bpw kwtbm-Pn-̈ pÅXmWv. 

a.  Who proposed the theory? 

        Cu  kn²m-́ -w Bhn-jv¡-cn- -̈Xmcv? 

b.  Who gave experimental verification of this theory? 

        Cu  kn²m-́ -¯ns\ ]co-£-Wm-Sn-Øm-\-̄ nÂ sXfn-bn-̈ -Xmcv? 

c.  Give two reasons for selecting Drosophila as an experimental animal. 
Cu  kn²m-́ -̄ nsâ ]co-£-W¯n\mbn ]g-bo¨sb Xnc-sª-Sp-¡m-\pÅ 
c−v  Imc-W§Ä FgpXpI 

 

3 
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MOLECULAR BASIS  OF INHERITANCE 

One word answer questions. Each question carries one score 

Hä hm¡nÂ D¯cw Fgp-XpI Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 
 

1. Expand VNTRs   

VNTRs  sâ ]qÀ®cq]w Fgp-XpI 
      

1 

2. Note the relation between first two words and fill in the blanks 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  \memas¯ 
hm¡v Fgp-XpI 

Coding sequences of hn RNA : Exon; Non coding sequences of hn RNA : ------------ 
 

1 

3. Start codon in genetic code is ……………………………………… 
P\n-XI tImtUm-Wnse Bcw` tImUv G-Xv ? 

 a.UAA    b. UGA    c. AUG   d. UAG 
 

1 

4. Note the relation in the first pair and complete the second pair 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  \memas¯ 
hm¡v Fgp-XpI 

         Adenine :::: Thymine ; Guanine ⁝⁝⁝⁝ ……………… 
 

1 

5. Which of the following combination does not apply to DNA 
Xmsg X¶n-cn-¡p-¶-h-bnÂ Un. F³. F bv¡v tbmPn-¡m¯ tPmUn G-Xv ? 

a. Deoxyribose, Guanine b. Deoxyribose, Adenine c. Ribose, Uracil c. Guanine, Thymine 
 

1 

6. The largest human gene in human genome is ……………………… 
a\pjy Pot\m-anse Gähpw henb Po³ BWv ........................ 
  

1 

Answer the following questions. Each question carries 2 scores 

Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 
 

7. A template strand of DNA sequence is given below 
Un. F³. F bpsS sSw¼vtfäv Cg-bpsS t{iWn X¶n-cn-¡p¶p 

3’GGTATATCCGGGAAATTC 5’ 

a. Write down the complementary DNA sequence 
    Un. F³. F bpsS A\pcq-]I t{iWn Fgp-XpI. 

b. Write down the mRNA sequence that would be produced from this strand  

    Cu sSw¼vtfäv t{iWnbnÂ \n¶pw D−m-Ip¶ mRNA bpsS t{iWn Fgp-XpI. 
 

2 

 

8. Human genome project revolutionized the biological world. It is a mega project 

to sequence the genome of human 
a\pjy Pot\m-w ]²Xn ssPh-tem-I-̄ v ]cn-hÀ¯\w \S-¯n. a\pjy Pot\m-anse 
Un. F³. F bpsS t{iWn Xncn-̈ -dn-bp-¶-Xn-\pÅ alXv ]²XnbmWnXv. 

a. Write down any two important goals of Human Genome Project 
   a\pjy Pot\m-w ]²XnbpsS {][m-\-s¸« c−v e£y-§Ä Fgp-XpI 

b. Expand the terms YAC and ESTs 

     YAC,  ESTs ]Z§-fpsS ]qÀ®cq]w Fgp-XpI 

2 
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9. Identify the figure given below and label it. 

Nn{Xw Xncn-̈ -dnªv A, B `mK§fpsS t]sc-gp-XpI. 

 
 

2 

10. Pictorial representation of Lac operon is given. Answer the following questions 
emIv Hm¸-tdmWnsâ Nn{Xw X¶n-cn-¡p-¶p. X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw 
Fgp-XpI 

 

a. Who proposed Operon model? 
   Hm¸-tdm¬ amXrI \nÀt±-in-̈ -Xmcv ? 

b. Name the inducer in Lac operon 
   emIv Hm¸-tdmWnsâ t{]c-I-L-SIw GXv ? 

c. Write down the name of structural genes and the enzymes produced by Lac  

     operon 
   emIv Hm¸-tdmWnsâ LS-\m-Po-\p-I-fpsS t]cpw Ah DÂ]m-Zn-̧ n-¡p¶  
   F³sskansâ t]cpw Fgp-XpI 

 

2 

11. a. Observe the figure and identify the steps involved in it 
   Nn{Xw Xncn-̈ -dnªv Cu {]{Inbbnse L«-§Ä Fgp-XpI 

b. Label the part A, B and C in the figure 

    A, B  & C F¶v AS-bm-fs¸Sp¯nb `mK§Ä Xncn-¨-dn-bpI 

 

2 
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12. Genetic code is a three letter combination of nucleotide involved in protein 

synthesis. 
amwky-kw-tÇ-jW¯nÂ DÄs¸Sp¶ P\n-XI tImtUm-WpIÄ {Xnt_-kn-I-§-
fmWv  

 a. Who proposed genetic code?  

     P\n-XI tImUv \nÀt±-in-̈ -Xmcv? 

b. Make a list of salient features of genetic code  
     P\n-XI tImUnsâ khn-ti-j-X-IÄ Fgp-XpI 
 

2 

13. Observe the diagram and answer the questions 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Identify the process shown in the figure 
   Nn{X¯nse {]{Inb F´v ? 

b. Identify the organelle involved in it 
   Cu {]{Inbbv¡v klm-bn-¡p¶ tImiwKw GXv ? 

c. Write down the three steps involved in it 
   Cu {]{Inbbnse aq¶v L«-§Ä Gh? 
 

2 

14. a. Identify the experimental set up given below and complete it. 
Xmsg X¶n-cn-¡p¶ ]co-£-Ww Xncn-̈ -dnªv ]qÀ¯nbm¡pI ? 

                  a) S strain +  Mice 
                           
��������� Mice die 

                  b) R strain +  Mice 
                           
��������� … … … ? … … … … 

                  c) S strain(heat killed)  +  Mice 
                           
��������� Mice live 

                  d) S strain(heat killed) and R strain live +  Mice 
                           
��������� … ? … … 

b. Name the scientists who determined the biochemical nature of the  

     transforming principle 
     ]cnhÀ¯\ XXz¯nsâ ssPh-cm-k-kz-̀ mhw \nÀ®bn¨ imkv{X-ÚcpsS  
   t]sc-gp-XpI 
 

2 

15. Differentiate between heterochromatin and euchromatin 
släntdmt{Im-am-än³ bqt{Im-am-än³ F¶nh thÀXn-cn-s¨-gp-XpI 

2 
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16. Identify the experiment in the given figure and write its purpose  
--Nn{X¯nÂ X¶n-«pÅ ]co-£-Ww Xncn- -̈dnªv CXnsâ Dt±iyw Fgp-XpI  

 

2 

17. The diagram given below shows a segment of DNA. Answer the questions  
Un. F³. F t{iWnbpsS Nn{Xw X¶n-cn-¡p¶p. tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Label the part a and b. 

    a, b F¶v AS-bm-fs¸Sp¯nb `mK§Ä Xncn-̈ -dn-bpI 

b. Identify the bond labelled as ‘c’ 

    ‘c’ F¶v AS-bm-fs¸Sp¯nb t_m−v Xncn-̈ -dn-bpI 

 

2 

18. Double helical structure of DNA is given. Answer the following 
Un. F³. F bpsS Cc« ]ncn-b³ L-S\ X¶n-cn-¡p¶p. tNmZy-§Ä¡v D¯cw 
Fgp-XpI 

 

a. Who proposed the double helical structure? 

   Cc«]ncn-b³ amXrI \nÀt±-in-̈ -Xmcv? 

b. Write any 3 peculiarities of DNA double helix 
   Cc« ]ncn-b³ amXrIbpsS aq¶v khn-ti-j-X-IÄ Fgp-XpI 

2 

  



73 

 

 

Answer the following questions. Each question carries 3 scores 

Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 3 kvtImÀ hoXw 
 

19. To solve a parental dispute the court issued an order to conduct a paternity test. 

The procedure of the test is given below  
]nXrXÀ¡-hp-ambn _Ô-s¸« ]cm-Xn-bnÂ tImSXn Hcp ]cn-tim-[\ \S-̄ p-hm³ 
D¯-c-hn-«p. ]cn-tim-[\bpsS L«-§Ä Xmsg X¶n-cn-¡p¶p. 

[The DNA is digested using restriction endonuclease,  Hybridisation using VNTR 

probe, Isolate the DNA, Separation of DNA fragment  using gel electrophoresis, 

Blotting of separated DNA fragment into a synthetic nitrocellulose paper, 

Detection of hybridised DNA fragment by autoradiography] 

              a. Name the test                              b. Who discovered it? 

                 ]cn-tim-[\bpsS t]sc´v ?          Cu ]cn-tim-[\ I−p-]n-Sn-̈ -Xmcv? 

             c. Arrange the given procedure in the correct order . 
                 ]cn-tim-[\bpsS L«-§Ä {Ia-ambn Fgp-XpI 

 

3 

20. Regulation of gene expression in E.coli at transcriptional level is explained in the 

given figure. Observe the figure and answer the following questions 
_mIvSocnbbpsS Po³ \nb-{´-W¯nsâ tcJm Nn{Xw X¶n-cn-¡p¶p. Nn{Xw \nco-
£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Identify the process shown in the above picture  
   Nn{Xw \nco-£n¨v Xncn-̈ -dn-bpI 

b. Label the parts marked A, B, C, D and E 

    A, B, C, D & E F¶v AS-bm-fs¸Sp¯nb `mK§Ä Xncn- -̈dn-bpI  

c. Redraw the figure if lactose is added to it. 
   emIvtSmknsâ km¶n²y-¯nÂ Nn{Xw ]p\À\nÀ½n-¡pI 
 

3 

21. Match the related items from B and C with column A 
tNcpw]Sn tNÀ¡pI 

Jacob and Monad Genetic Code 
Streptococcus 

pneumoniae 

Griffith Transformation Radioactive Phosphorus 

George Gamow Bacteriophage AUG 

Hershey and Chase Operon concept Structural gene 
 

3 
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22. Observe the diagram and answer the questions given below. 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

a. Identify the figure            b. Label  A, B   

   Nn{Xw Xncn-̈ -dn-bpI        A, B F¶v AS-bm-fs¸Sp¯nb `mK§Ä Xncn-̈ -dn-bpI  

 

c. List out the enzymes involved in the process and list its function 
    Cu {]{InbbnÂ DÄs¸-Sp¶ F³sskapIfpsS t]cv Fgp-Xn AXnsâ [À½w  
   FgpXpI. 

     

3 

23. a. Observe the figure and identify it  
   Nn{Xw \nco-£n¨v Xncn-̈ -dn-bpI 

b. Define the terms exon, intron. 
   FIvtkm¬, C³t{Sm¬ F¶nh \nÀÆ-Nn-¡pI ? 

c. Write down the three steps labelled as 1, 2 & 3 in the figure 
    Nn{X¯nÂ ImWp¶ 1, 2, 3 F¶v AS-bm-f-s¸-Sp-̄ nb {]{Inb Fgp-XpI 

 

3 

24. Observe the following diagram and answer the questions. 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Identify the figure. 
   Nn{Xw Xncn-̈ -dn-bpI. 

b. Identify the parts labelled as  A,B and C and write its function 

     A, B, C F¶v AS-bm-fs¸Sp¯nb `mK§Ä Xncn-̈ -dn-bpI Ah-bpsS [À½w    
   Fgp-XpI 

3 
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25. Observe the flow chart. Answer the following questions 

tcJm Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 

a. Identify the diagram 
   Nn{Xw Xncn-̈ -dn-bpI 

b. Who proposed it ? 
   Cu amXrI \nÀt±-in-¨-Xmcv ? 

c. Label A to D 

    A apXÂ D hsc AS-bm-fs¸Sp¯nb {]{Inb Xncn-̈ -dn-bpI  

3 
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EVOLUTION  

One word answer questions. Each question carries one score 
Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 
 

1. Which theory talks about the huge explosion that resulted in the origin of 

Universe? 
{]]-t©mÂ¸¯nbv¡v Imc-W-amb kn²m´w GXv ? 
 

1 

2. Fill in the blanks with appropriate words 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  \memas¯ 
hm¡v Fgp-XpI 

 Darwin: Natural Selection ; Lamarck : .................................  
 

1 

3. ............... islands played a significant role in proposing the Darwinian laws of 

evolution 
...................... Zzo]pIÄ UmÀho-\nb³ ]cn-Wma kn²m´w Bhn-jv¡-cn-¡m³ {][m\ 
]¦v hln¨p. 
 

1 

4. Fill in the blanks with appropriate words 
BZys¯ c−p ]Z-§-fpsS _Ôw a\-Ên-em-¡nb tijw tbmPn-̈  \memas¯ 
hm¡v Fgp-XpI 

Divergent evolution: Homologous organ; Convergent evolution: ............................ 
   

1 

Answer the following questions. Each question carries 2 scores 

Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 
 

5.  Observe the diagram and answer the questions 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Identify the type of evolution 
     Cu ]cn-Wma {]{Inb GXm-sW¶vv Xncn-̈ -dn-bpI 

b. Define it and write the type of organism in which it occurs 
   Cu ]cn-Wma {]{Inb \nÀÆ-Nn-¡p-I. GXv Xcw Pohn-I-fnemWv Cu {]{Inb      
   \S-¡p¶Xv 
 

2 

6. Human activities have a role in the process of evolution. Substantiate your 

answer with examples. 
a\p-jy-{]-hÀ¯\§Ä¡v ]cn-Wm-a- {]{In-b-bnÂ ]¦v D−v. DZm-l-c-W-k-lnXw       
km[q-I-cn-¡pI 

2 
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7. a. From the following items draw a flow chart showing “Darwinism “. 
    Xmsg X¶n-cn-¡p¶hsb  UmÀhn-\nkw hni-Zo-I-cn-¡p¶ ^vtfm NmÀ«v B¡n    
   Fgp-XpI 

[Survival of the fittest, struggle for existence, over production, origin of species, 

natural selection, variation.] 

b. Who supported the Darwinian theory ? 
     UmÀhn-\nb³ kn²m´s¯ kaÀ°n-̈ -Xmcv ? 
 

2 

8. Observe the diagram of the given experimental set up and answer the questions 
X¶n-cn-¡p¶ ]co-£-W¯nsâ Nn{Xw \nco-£n¨v tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Identify the experiment and write down its purpose  
    -]co-£-Ww Xncn-̈ -dnªv CXnsâ Dt±iyw Fgp-XpI 

b. Name the gases used in spark discharge chamber of experimental apparatus 
     ]co-£-W D]-I-cW¯nse kv]mÀ¡v UnkvNmÀPv tN¼dnÂ D]-tbm-Kn-¡p¶ 
hmX-I-§-fpsS t]sc-gp-XpI. 

 

2 

9. Complete the table using the following words 
    Xmsg X¶n-cn-¡p¶ ]Z-§-fp-]-tbm-Kn¨v ]«nI ]qÀ¯oI-cn¡pI 

(Convergent evolution, Gene flow, Adaptive radiation, Divergent evolution )  

Darwin’s finches a 

Homologous organ b 

c Migration 

Analogous organ d 
 

2 

10. Homologous and analogous organs are evidences of evolution. Define the term 

with suitable examples 
ka-Pm-X-̀ m-K-§fpw ka-[À½`m-K-§fpw ]cn-Wm-a¯nsâ sXfn-hp-I-fm-Wv. DZmlc-
Wk-lnXw Ch \nÀhNn-¡pI 
 

2 

11. a. Prepare a flow chart indicating human evolution by rearranging the given  

    items in order. 
   Xmsg X¶n-cn-¡p¶hsb ]cn-Wm-a-Im-e-a-\p-k-cn¨v ^vtfm NmÀ«v cq]-¯nÂ Fgp-XpI 

             Homo hablis, Homo sapiens, Dryopithecus, Homo erectus, Australopithecines 

b. Write the features of Homo hablis 
     tlmtam- l_nenbknsâ khn-ti-j-X-IÄ Fgp-XpI 

2 

  



78 

 

 

12. The given diagram indicates an important pattern of evolution 
Xmsg X¶n-cn-¡p¶ Nn{Xw ]cn-Wma {]{In-bsb ImWn-¡p¶p 

 
a. Name the evolutionary pattern 
      ]cn-Wma coXn GXv ? 

b. Write other two examples for this pattern 
      Cu ]cn-Wma coXnbpsS aäp c−v DZm-l-cW§Ä Fgp-XpI 

 

2 

13. p² + 2pq +q² = 1 is an equation showing the principle of evolution   

]cn-Wm-a-X-¯z-s¯ ImWn-¡p¶ ka-hm-Iy-amWv p² + 2pq +q² = 1 

a. Name the principle.  
    X¯zw GXv ? 

b. Name the factors affecting this principle.     
     Cu X¯zs¯ kzm[o-\n-¡p¶ LS-I-§Ä Gh ? 

 

2 

14. The following graph represents the operation of natural selection on different 

traits. 
Xmsg X¶n-cn-¡p¶ {Km^v ]cn-Wma{]{In-bbnÂ hcp¶ Poh-hÀ¤§fpsS {]IrXn 
\nÀ²mcWs¯ ImWn-¡p¶p. 

 
a. What do you mean by natural selection? 
    {]IrXn \nÀ²mcWw F´v ? 

b. Identify the three types of selection marked as A, B and C 

    A, B, C F¶v AS-bm-f-s¸-Sp-̄ nb aq¶v Xc-¯n-epÅ {]IyXn \nÀ²mcWw Gh ? 

2 

15. Melanised moth is a good example of natural selection. Do you agree? 

Substantiate your answer.    
{]Ir-Xn-\nÀ²mcW¯nsâ DZm-l-cWamWv saem-\nIv ie-̀ -§Ä. \n§Ä 
tbmPn¡p¶pt−m? D¯cw km[q-I-cn-¡pI.   

2 
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16. Match the following  
tNcpw]Sn tNÀ¡pI 

A B 

Mutation Theory Charles Darwin 

Abiogenesis Oparin and Haldane 

Natural Selection Hugo de Vries 

Molecular Evolution Aristotle 
 

2 

17. ‘A population has been exhibiting genetic equilibrium’ . Answer the following with 

regard to the above statement. 
Poh-KWw P\n-XI k´p-en-Xm-h-Ø-bn-em-Wv. Cu {]kvXmh-\-bp-ambn _Ô-s¸«v 
X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

a. Name the underlying principle  
    CXnsâ ]n¶nse X¯zw GXv ?   

b. Write down the equation for allele frequency 
     Po³ BhÀ¯n kqNn-̧ n-¡p¶ ka-hmIyw Fgp-XpI 
 

2 

Answer the following questions. Each question carries 3 scores 

Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 3 kvtImÀ hoXw 
 

18. a. Categorise the following organs  into two groups by giving appropriate headings  
    DNn-X-amb Xe-s¡«v \ÂIn Xcw-Xn-cn-¡pI. 

Eyes of octopus and mammals, Flippers of dolphin and penguin 

Thorns of bougainvillea and cucurbita, Forelimbs of cheetah and man 

 b. Differentiate between convergent and divergent evolution  
      I¬hÀPâpw ssUhÀPâpw ]cn-Wmaw thÀXn-cn-s -̈gp-XpI 
 

3 

19. The figure given below shows variety of beaks of a particular type of bird seen in 

an island during Darwin’s journey . 
UmÀhn-³ bm{X sNbvX Zzo]nse ]£n-I-fpsS Np−nsâ khn-ti-j-X-IÄ Nn{X-
¯nÂ ImWp¶p 

 
a. Identify the bird and name the island  
   Zzo]nsâbpw ]£n-bpsSbpw t]sc-gp-XpI 

b. Name the  evolutionary principle behind it 
    CXnsâ ]n¶nse ]cn-WmaX¯zw GXv ? 

c. Give another example for this evolutionary principle 
    Cu ]cn-WmaX¯z¯n\v asäm-cp-Zm-l-cWw Fgp-XpI 

3 
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HUMAN HEALTH AND DISEASES 

One word answer questions. Each question carries one score 

Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 
 

1. Name the test used to confirm typhoid fever 
ssSt^mbnUv tcmKw Ønco-I-cn-¡m³ D]-tbm-Kn-¡p¶ ]cn-tim-[\bpsS t]sc´v? 
 

1 

2. Spreading of cancer cells into the distant parts of the body through blood is 

called ……………….  
Iym³kÀ tImi§Ä cà-¯n-eqsS ico-c-̄ nsâ hnhn[ `mK§fntebv¡v 
hym]n¡p¶Xns\ ............................ F¶v ]d-bp-¶p. 
 

1 

3. Expand NACO 

NACO  bpsS ]qÀ®cq]w Fgp-XpI 

 

1 

4. Plasmodium enters the human body as............................. 
a\pjy ico-c-̄ nÂ ¹mkvtam-Unbw {]th-in-¡p-¶Xv .......................... cq]-̄ n-emWv 

 

1 

5. Cellular oncogenes are called ……………………….. 
ico-c-tImi-§-fnse Hmt¦m-Po-\p-Isf .......................... F¶-dn-b-s¸-Sp¶p 

a. Prooncogene    b. c-onc   c. interferon    d. carcinogens 

 

1 

6. Cytokine barrier produced by the virus infected cell is .............................. 
sshdkv _m[nX tImi-§Ä DXv]m-Zn-̧ n-¡p¶ ssktäm-ss¡³ {]Xn-_-Ô-§-
fmWv ......... 

 

1 

7. ……………..enzyme helps the HIV to convert its RNA to DNA during macrophage 

infection. 

amt{Imt^PnÂ HIV {]th-in-¡p-t¼mÄ .............................. F³sskw RNA sb DNA 

B¡n amäp-¶p. 

 

1 

Answer the following questions. Each question carries 2 scores 

Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 
 

8. Expand the following  
]qÀ®cq]w Fgp-XpI 

           a. ELISA             b. MALT 

 

2 

9. Prepare a pamphlet for an awareness programme in your school  about the 

measures to prevent and control alcohol and drug abuse 
\n§-fpsS kvIqfnÂ aZy¯nsâbpw ab¡p-a-cp¶nsâbpw Zpcp-]-tbmKw XS-bp-¶-
Xn\v Ah-t_m-[w \ÂIm-\pÅ eLp-teJ X¿m-dm-¡p-I. 

2 
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10. Identify the parts labelled A, B, C and D 

NmÀ«nÂ A, B, C & D  F¶v AS-bm-fs¸Sp¯nb `mK§Ä Xncn-̈ -dn-bpI  

 

Immunity 

   

                                                     Innate Immunity                                          …A…….  

 

                                ….B…         Cellular barrier    ..C..                     Active immunity    ...D..... 

 

2 

11. Analyse the relationship among different columns, Fill in the blanks 
]Z-§-fpsS _Ôw a\-Ên-em-¡n hn«pt]mb `mKw ]qcn¸n-¡pI 

A B C 

Salmonella typhi ……………………. High fever 

...................... Common cold Nasal discharge 

……………….. ……………………. Stool with blood clot 
 

2 

   

12. Name one protozoan and one helminthic disease spread by vectors. Name the 

vector in each of these diseases mentioned.   
tcmKm-Wp-hm-l-IÀ hgn ]I-cp¶ hnc-P-\yhpw t{]mt«mt-km-h-P-\y-hp-amb Htcm 
tcmK¯nsâ t]sc-gp-XpI. Htcm¶nsâbpw tcmKm-Wp-hm-l-IcpsS t]sc-gp-XpI. 

 

2 

13. Cancerous cells continue to divide giving rise to undifferentiated mass of tissue 

called tumors. Tumours are of two types. Name and differentiate them. 
Iym³kÀ tImi-§fpsS XpSÀ -̈bmb hn -̀P\¯n-eqsS D−m-Ip¶ thÀXn-cn-hn-
Ãm¯ Ie-Isf SyqaÀ F¶v hnfn-¡p-¶p. c−v Xc-¯n-epÅ SyqaÀ Gh? hyXym-k-
§Ä Fgp-XpI ? 
 

2 

14. In a class room discussion, a student argues that allergic diseases are more 

common in children living in metro cities than those in villages. 
¢mkv dqw NÀ¨-bnÂ AeÀPn {Kma-{]-tZ-i-§-fnse Ip«nIsf At]-£n¨v \Kc-{]-tZ-
i-§-fnse Ip«nIfnemWv IqSp-XÂ F¶v Hcp hnZymÀ°n hmZn¨p. 

a. Do you agree with this statement 
    Xm¦Ä CXn-t\mSv tbmPn-¡p¶pt−m ? 

b. What type of immunoglobulin is responsible for  allergic reaction? 

     GXv {]Xn-{Z-hy-amWv AeÀPnbpambn _Ô-s¸«v DÂ]m-Zn-̧ n-¡p-¶Xv? 

c. Suggest any two drugs which reduce the allergic symptoms 
    AeÀPn XS-bm³ D]-tbm-Kn-¡p¶ c−v acp-¶p-IÄ Fgp-XpI 
 

2 

15. Differentiate between active immunity and passive immunity.   
k{Inb, \nj-v{Inb tcmK-{]Xntcm[w F¶nh thÀXn-cn-s -̈gp-XpI  

2 
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16. Cancer is one of the most dreaded diseases in human beings and is the major 

cause of death 
a\p-jy-cnÂ ac-W-Im-c-W-amb `oXn-P\y tcmK-amWv Iym³kÀ. 

a. Write any two common approaches for the treatment of cancer 
     Iym³kÀ NnInÕbv¡v Ah-ew-_n¡p¶ c−v kao-]\w Fgp-XpI  

b. Write any two peculiarities of cancer cells 
     Iym³kÀ tImi-§fpsS c−v {][m\ {]tXy-I-X-IÄ Fgp-XpI 
 

2 

17. a. Name any two primary and secondary lymphoid organs in our body. 
    c−v {]mY-anI ZznXob enwt^m-bnUv Ah-b-h-§-fpsS t]sc-gp-XpI. 

b. Site the role of secondary lymphoid organ in immunity 
    ZznXob enwt^m-bnUv Ah-b-h-§-fpsS [À½w Fgp-XpI 
 

2 

18. Fill in the blanks A, B, C and D using correct terms provided. 

X¶n-cn-¡p¶ ]Z§Ä D]-tbm-Kn¨v A, B, C, D ]qcn-̧ n-¡pI 

[Oncogenes, Active immunity, Auto immune disorder,  ELISA] 

A Cancer 

Allergy B 

C AIDS 

Rheumatoid arthritis D 
 

2 

   

19. Match the following tNcpw]Sn tNÀ¡pI 

A B C 

Opioids Marijuana Cannabis plant 

Cannabinoids Coke Poppy plant 

Cocaine Heroin Erythroxylon plant 
 

2 

Answer the following questions. Each question carries 3 scores 

Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 3 kvtImÀ hoXw 
 

20. During a class discussion, your friend said that ‘Aids can also be transmitted 

through food and touch’. 
FbnUvkv tcmKw Blm-c-̄ n-eq-sSbpw kv]Ài-\-̄ n-eq-sSbpw ]I-cp-sa¶v 
¢mkvdqw NÀ¨-bnÂ Iq«p-Im-c³ ]d-bp-¶p. 

a. What is your opinion about the statement? 

      \n§fpsS A`n-{]mbw F´v? 

b. How does HIV infect human body? 

      F¨v sF hn tcmKm-Wp-_m[ F§-s\-bmWv D−mIp¶Xv? 

c. What clinical test is used to diagnose AIDS?  

      AIDS tcmK ]cn-tim-[\bpsS t]sc´v?       

3 
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21. Observe the figure and answer the following questions 
Nn{Xw \nco-£n v̈ X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 
 

 
a. Name the disease 
    tcmKw Xncn-̈ -dn-bpI     

b. Name the causative organism 
     tcmKImcn-bpsS t]sc´v ? 

c. Fill the steps in infection A, B and C labelled in the diagram 

     Nn{X¯nÂ A, B, C L«-§Ä GXm-sW¶v Fgp-XpI. 

d. Write any two methods to control the spread of this disorder 
    Cu tcmKw XSbp¶Xn\pÅ c−v amÀ¤§Ä Fgp-XpI. 

 

3 

22. Breast feeding is important for the health of a new born baby. Do you agree ? 

“Hcp \h-Pm-X-in-iphnsâ Btcm-Ky-̄ nÂ ape-bq-«en\v {]m[m\yw D−v”. \n§Ä 
tbmPn-¡p¶pt−m ? 

a. Name the milk produced by the mother during the initial day of lactation 
      ape-bq-«ensâ BZy Zn\-§-fnÂ DÂ]m-Zn-̧ n-¡p¶ ]mensâ t]sc´v ? 

b. Name the type of immunity provided by the mother’s milk 

      ape¸meneqsS e`n-¡p¶ tcmK-{]Xntcm[ tijn-bpsS t]sc-gp-XpI ? 

c. Name the type of antibody involved in it 
     CXnÂ DÄs¸-Sp¶ {]Xn-{Z-hy-w GXmWv ? 

3 
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23. Observe the figure and give the answers 
Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI 

 
a. Identify the figure 
    Nn{Xw Xncn-̈ -dn-bpI 

b. Label the parts A, B and C 

    A, B, C F¶v AS-bm-fs¸Sp¯nb `mK§Ä Xncn-̈ -dn-bpI  

c. Name the two types of this molecule with their function 
    Cu X³am-{X-bpsS c−v hI-t -̀Z-§fpw Ah-bpsS [À½hpw Fgp-XpI 

3 
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MICROBES IN HUMAN WELFARE 

One word answer question. Each question carries one score 

Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 
 

1. Find out the name of the microbe from which cyclosporin A is obtained 

sskt¢mkvt]mdn³ A DÂ]m-Zn-̧ n-¡p¶ kq£vaPohnsb Is−-¯pI 

a. Propionibacterium b. Staphylococci c. Trichoderma d. Monascus  

 

1 

2. Expand the term BOD 

BOD bpsS ]qÀ®cq]w Fgp-XpI 
 

1 

3. Expand the term- IPM 

IPM sâ ]qÀ®cq]w Fgp-XpI 
 

1 

4. Fill up the blanks with appropriate words 
A\p-tbm-Pyamb ]Zw D]-tbm-Kn¨v ]qcn-̧ n-¡pI 

 Lactobacillus: Curd ; .................................. : Biogas 

 

1 

Answer the following questions. Each question carries 2 scores 

Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 
 

5. All microbes  are not harmful, useful members are also present in nature. 

Mention the useful microbes. 
{]Ir-Xn-bnÂ ImWp¶ FÃm kq£va PohnIfpw tZmj-Im-cn-I-f-Ã. Xmsg X¶n-cn-
¡p¶hbnÂ D]-Im-cn-I-fmb kqjva PohnIsf Is−-¯pI 

a. for the production of antibiotics  b. In household products. 

     Bânt_mUn-bpsS DXv]m-Z\w             KmÀlnI DÂ¸-¶-§-fnÂ 

 

2 

6. Cultivation of leguminous plant as intercrop is a usual practice by laymen. Do 

you   agree? Justify your answer 
]b-dp-hÀ¤¯nÂs¸Sp¶ kky-§sf CS-hn-f-I-fmbn Iyjn sN¿p¶p. \n§Ä 
tbmPn-¡p¶pt−m? D¯cw km[q-I-cn-¡pI ? 
 

2 

7. Identify the microorganism 
kq£vaPohnsb Xncn- -̈dnbpI 

a. Symbiotic association with roots of leguminous plant. 
    ]b-dp-hÀK¯nÂ s]Sp¶ kky-§fpsS thcp-I-fp-ambn ]c-kv-]cm{ibw     
   ImWn¡p¶p. 

b. Microbe responsible for the fermentation of dough. 
    amhv ]pfn-̧ n-¡p-¶XnÂ GÀs¸Sp¶ _mIvSo-cnb. 

c. Bacteria used in the production of Swiss cheese. 
    kznkv Nokv \nÀ½mW¯nÂ GÀs¸Sp¶ kqjvaPohn. 

d. Microbes responsible for the conversion of milk to curd. 
    ]mÂ ssXcm-¡p¶ kqjvaPohn. 

2 
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8. Biogas is a mixture of gases produced by the microbial activity and  can be used 

as a fuel. 
kqjvaPohnIfpsS {]hÀ¯\^-e-ambn DÂ]m-Zn-̧ n-¡p¶ _tbm-Kymkv CÔ-\-
ambn D]-tbm-Kn-¡p¶p. 

a. Biogas producing microbes are collectively known as …… 
    _tbm-Kymkv DÂ]m-Zn-̧ n-¡p¶ kqjvaPohnIsf ............F¶v hnfn¡p¶p 

b. Name the organisation that developed the technology of biogas 
    _tbm-Kymkv kmt¦-XnIhnZy hnI-kn-̧ n¨ kwL-S\ GXv ? 

c. Name the three parts of a biogas plant 
    _tbm-Kymkv ¹mânsâ aq¶v `mK§Ä Fgp-XpI 
 

2 

9. During biological sewage treatment, flocs formation occurs 
ssPhnI amen\ykwkv¡-c-W-¯nÂ ^vtfmIvkv D−m-Ip¶p 

a. What you mean by flocs        

   F´mWv v̂tfmIvkv?            

b. Write two uses of flocs 
    v̂tfmIvknsâ c−v D]-tbmK§Ä Fgp-XpI 

 

2 

10. “Biofertilizers are better than chemical fertilizers”. Do you agree with the 

statement?  

“ssPh-h-f§Ä cmk-h-f-§-sf-¡mfpw anI-̈ -XmWv”. \n§Ä tbmPn-¡p¶pt−m ? 

a. Define the term biofertilizer    
    ssPh-h-f§Ä \nÀh-Nn-¡pI   

b. Justify your answer with suitable examples. 
   DZm-l-cW klnXw km[q-I-cn-¡pI 
 

2 

11. Microbes can be used as biocontrol agent for plant pest. Justify the statement 

with two examples 
kq£va PohnIsf kky-Io-S-§-fpsS ssPhnI\n-b-{´-W-¯n\v D]-tbm-Kn-¡mw. 
c−v DZm-l-cW klnXw km[q-I-cn-¡pI 

 

2 

12. Analyse the relationship among different columns, Fill in the blanks 
]Z-§-fpsS _Ôw a\-Ên-em-¡n hn«pt]mb `mKw ]qcn¸n-¡pI 

2 

 

column I column II column III 

.............................. Streptococcus clot buster 

Cyclosporin Monascus purpureus ................................... 

Streptokinase ............................. .................................... 

13. Sewage is treated in Sewage Treatment Plant (STPs) to make it pollution free. 
aen-\-Pew amen\ykwkv¡-c-W- ¹mânsâ {]hÀ¯\¯n-eqsS ip²o-I-cn¡mw 

a. Define sewage 
    kzothPv \nÀh-Nn-¡pI  

b. Name the two major steps involved in sewage treatment 
     kzothPv kwkv¡-c-W¯nsâ c−v {][m\ L«§Ä Fgp-XpI 

2 
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BIODIVERSITY AND CONSERVATION 

One word answer questions. Each question carries one score 

Hä hm¡nÂ D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 1 kvtImÀ hoXw 

 

1. Expand the term- IUCN 

IUCN sâ ]qÀ®cq]w Fgp-XpI 

 

1 

2. Conserving animals in zoos, safari parks etc is an example for ……….......…… 

preservation 
P´p-¡sf arKime, k^m-cn-]mÀ¡pIÄ apXem-b-h-bnÂ kwc-£n-¡p-¶-Xns\ 
............. F¶v ]d-bp-¶p. 
 

1 

3. Who among the following proposed rivet popper hypothesis inorder to explain 

the importance of species richness? 
kv]ojokv k¼-¶-X-bpsS {]m[m\yw hnh-cn-¡m³ dnhäv t]m¸À sslt¸m-Xn-knkv 
\nÀt±in-̈ -Xmcv ? 

  a. A. V. Humboldt    b. David Tilman    c. Paul Ehrlich    d. Edward Wilson 

 

1 

4. Species confined to a region and not found anywhere else are known as 

……………… 
-Hcp {]tXyI Øe v̄ am{Xw ImW-s¸-Sp-¶Xpw asämcnS¯pw ImW-s¸-
Sm¯Xpamb Pohn-hn-̀ m-Ks¯ ....................................... F¶v ]d-bp-¶p. 
 

1 

5. The historic Convention on Biological Diversity (‘The Earth Summit’) was held at 
Ncn{X]camb `ua D¨-tImSn \S¶ Øew FhnsS ? 

a. Montreal    b. Johannesburg    c. Rio de Janeiro    d. Tokyo 

 

1 

6. What will be the value of ‘Z’ in the case of frugivorous birds in tropical forest? 

DjvW-ta-Jem h\-§-fnse ^e-t`m-Pn-I-fmb ]£n-I-fpsS ‘Z’ aqeyw F{X? 

       a. 0.1 – 0.2     b. 0.6 – 1.2     c. 1.15     d. 0.5 

 

1 

Answer the following questions. Each question carries 2 scores 

Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 2 kvtImÀ hoXw 
 

7. Following are some of the conservative methods of biodiversity. Classify them 

with proper heading. 
ssPh kwc-£W¯nse hyXykvX amÀ¤-§Ä X¶n-cn-¡p¶p. DNn-X-amb Xe-s¡«v 
\ÂIn Xcw-Xn-cn-¡pI. 

Zoological parks, Sacred groves, Sanctuaries, Botanical Gardens, National parks, 

gene bank, Cryopreservation, Biosphere reserves  

    

2 

8. Name two biodiversity hotspots in India 
C´y-bnse c−v ssPhsshhn²y tlm«v kvt]m«p-IÄ FgpXpI  

2 
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9. List out ‘the evil quartet’ related to the loss of biodiversity. 
ssPhsshhn²y¯nsâ \mi-¯n\v Imc-W-amb  CuhnÄ IzmÀ«-äp-IÄ Gh ? 

 

2 

10. Colombia located near the equator has nearly 1,400 species of birds, while and 

Greenland at 71° N only 56 species. Do you agree? Give two reasons for this 

variation in biodiversity. 
`qa-[y-tcJbv¡v ASp v̄ ImWp¶ sImf¼n-b-bnÂ 1400 kv]ojokv ]£n-Ifpw 

F¶mÂ 71° hS¡v ImWp¶ {Ko³emânÂ 56 kv]ojokv ]£n-IfpamWv DÅ-Xv. 
Xm¦Ä tbmPn-¡p-¶pt−m ? C¯cw hyXym-k-¯n\v c−v ImcWw FgpXpI 
 

2 

11. Complete the chart NmÀ«v ]qÀ¯oIcn-¡pI 

                                  Biodiversity Conservation 

 

                 ............A..............                                                   ...........B.............. 

 

..........C...........                   National park                    Zoo                      ............D............. 

 
 

2 

12. Find the odd one out and give reason 
Häbms\ Is−-̄ pI ImcWw Fgp-XpI 

a. National park b. Seed bank c. Biosphere reserve d. Sacred groves 
 

2 

13. Define the following terms with examples 
Xmsg X¶n-cn-¡p-¶h DZm-l-cW klnXw \nÀÆ-Nn-¡pI 

                               a. Coextinction         b. Hot spot 
 

2 

14. The IUCN Red List documents the extinction of 784 species in the last 500 years. 

Name any four extinct species. 

IUCN sâ sdUv enÌnÂ Ignª 500 hÀj-ambn 784 kv]ojokpIÄ¡v hwi-\m-
iw t\cn«Xmbn tcJ-s¸-Sp-̄ n-bn-cn-¡p¶p. hwi-\m-iw t\cn« \mep Pohn-I-fpsS 
t]sc-gp-Xp-I. 
 

2 

15. The Nile perch introduced into Lake Victoria in East Africa led to the extinction 

of more than 200 species of cichlid fish in the lake. Give reason 
ss\Â s]À¨nsâ A[n-\n-thiw 200 Â A[nIw NnNnÂUv aÂky-§-fpsS hwi-
\m-i-̀ o-jWnbv¡v Imc-W-ambn. ImcWw F-gp-Xp-I? 
 

2 
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Answer the following questions. Each question carries 3 scores 

Xmsg X¶n-cn-¡p¶ tNmZy-§Ä¡v D¯cw Fgp-XpI. Hmtcm tNmZy¯n\pw 3 kvtImÀ hoXw 
 

16. Observe the graph related to biodiversity and answer the questions that follows 
ssPhsshhn²yhpambn _Ô-s¸« Nn{Xw \nco-£n¨v X¶n-cn-¡p¶ tNmZy-§Ä¡v 
D¯cw Fgp-XpI 

 
 

a. Identify the graph ? what does ‘z’ and ‘c’ represents 

    {Km^v Xncn-̈ -dnbpI ? {Km^nÂ ‘z’ bpw ‘c’ bpw F´v F¶v Fgp-XpI 

b. What is the normal range in the value of Z? 

    Z sâ km[m-cW aqeyw F{X ? 

c. What will be the value of Z in the case of a large area like the entire  

     continents? 

    `qJ-WvU§Ä t]mepÅ henb {]tZi§fnÂ Z sâ aqeyw F{X ? 

 

3 
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